
Test sobre la 
RECOGIDA DE BASURAS DE FORMA SELECTIVA EN NUESTRO CENTRO
Debes ir rellenando el test según vayas analizando las diapositivas
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Analiza previamente el diagrama en el que aparece el camino que siguen las materias primas desde que se extraen de la naturaleza hasta que dejan de ser útiles o se reutilizan
__c__
1.
Elige el orden correcto de los procesos que aparecen:
	a.
	Obtención de materias primas=> Distribución de los productos obtenidos=> Consumo doméstico

	b.
	Distribución de los productos obtenidos  => Obtención de materias primas => Consumo doméstico => Desechos

	c.
	Obtención de materias primas=> Fabricación de productos => Distribución de los productos obtenidos=> Consumo doméstico => Producción de desechos

	d.
	Consumo doméstico => Fabricación de productos =>   Producción de desechos


__a__
2.
La acumulación de desechos y la terminación de las materias primas puede producirse por:
	a.
	La inexistencia de recogida selectiva y de la incineración de desechos
	c.
	Por reciclar

	b.
	Por un consumo bajo
	d.
	Todas las anteriores son ciertas


__d__
3.
¿Qué sucedería si no existiera el reciclaje y la incineración y solo se enviara la basura a los vertederos?:
	a.
	Se acabaría con las materias primas
	c.
	Afectaría a la forma de vida humana actual

	b.
	La basura se acumularía en grandes cantidades y mplias zonas del planeta acabarían inundadas de basura.
	d.
	Todas las anteriores son ciertas



__a__
4.
¿Qué produce la incineración de la basura?:
	a.
	Dióxido de carbono y otros gases de efecto invernadero 
	c.
	Helio.

	b.
	Oxígeno
	d.
	Ninguna de las anteriores


__d__
5.
¿Qué podemos obtener a partir de la incineración de la basura?:
	a.
	Energía (electricidad)
	c.
	La conservación de las materias primas

	b.
	Una disminución del tamaño de los vertederos
	d.
	A y B son correctas


__a__
6'.
What was the significance of Mendeleev leaving gaps in his periodic table?
	a.
	The elements had not yet been discovered 
	c.
	He didn't know where to put some elements

	b.
	He wanted to leave some work for others to do when he died 
	d.
	None of the above


__c__
7'.
Why did Mendeleev's period table slowly gain popularity with other chemists over the years following its publication? 
	a.
	Mendeleev went on a world tour to publicise it
	c.
	Elements he had predicted using his periodic table were discovered and fitted in

	b.
	They didn't have the internet in those days, so no-one knew about it 
	d.
	None of the above


__b__
8'.
Why did Mendeleev swap the order of some of the elements in his periodic table?

	a.
	To put them in alphabetical order 
	c.
	To put them in order of increasing atomic weight 

	b.
	To make sure their properties fitted elements in the same group 
	d.
	None of the above


__a__
9'.
Which element was predicted by Mendeleev and then discovered a few years after he had published his periodic table

	a.
	Gallium
	c.
	Carbon

	b.
	Lead 
	d.
	Iron


__a__
10'.
Alexandre-Émile Béguyer de Chancourtois  was a French geologist a who arranged the chemical elements in order of atomic number in a spiral graph called 
	a.
	vis tellurique, or telluric helix
	c.
	Periodic table

	b.
	Triads
	d.
	Law of Octaves 




The periodic system
____
1.
A vertical column ( ↓ ) of elements on the periodic table may also be referred to as a:
	a.
	series 
	c.
	period

	b.
	group
	d.
	None of the above


____
2.
A horizontal row ( → ) of elements on the periodic table may also be referred to as a:
	a.
	family
	c.
	period

	b.
	group
	d.
	None of the above


____
3.
Moseley arranged his periodic table by increasing 

	a.
	atomic mass
	c.
	atomic number

	b.
	number of electrons
	d.
	symbol 


____
4.
The __________ contains the name, atomic number, symbol, and atomic mass of an element.
	a.
	letter
	c.
	property

	b.
	symbol 
	d.
	element key


____
5.
From left to right, what are the order of zones on a periodic table?
	a.
	nonmetals, metalloids, and metals
	c.
	metals, nonmetals, and metalloids

	b.
	metalloids, metals, and nonmetals
	d.
	metals, metalloids, and nonmetals


____
6.
What is a common property of nonmetals?
	a.
	shininess
	c.
	malleability

	b.
	poor conductors
	d.
	ductility


____
7.
Which of the following CORRECTLY describes the modern periodic table?
	a.
	It has 18 groups and 8 periods 
	c.
	It has 18 groups and 7 periods 

	b.
	It has 18 groups and 10 periods 
	d.
	It has 8 groups and 7 periods 


____
8.
Which of the following describes the element boron (B)?
	a.
	metalloid
	c.
	alkali metal

	b.
	lanthanide
	d.
	transition metal


____
9.
Bromine (Br) is a member of which group? 
	a.
	actinides
	c.
	alkali metals

	b.
	halogens
	d.
	lanthanides


____
10.
Which of the following elements is a noble gas?  
	a.
	barium (Ba)
	c.
	lithium (Li)

	b.
	argon (Ar)
	d.
	iodine (I) 


____
11.
Which element is a metalloid? 
                 
	a.
	chlorine (Cl) 
	c.
	hydrogen (H) 

	b.
	Sodium (Na)
	d.
	germanium (Ge)


____
12.
Noble gases __________ react with other elements.        
	a.
	seldom 
	c.
	violently 

	b.
	always
	d.
	do not


____
13.
A(n) __________ of elements on the modern periodic table contains elements with similar chemical and physical properties. 
                 
	a.
	group 
	c.
	period 

	b.
	area 
	d.
	zone 


____
14.
__________ is an alkali metal.        
	a.
	Barium
	c.
	Lead 

	b.
	Sodium 
	d.
	Magnesium


____
15.
The atomic number of an element tells you the number of _____ in a neutral atom. 
	a.
	Nucleons
	c.
	Neutrons

	b.
	Electrons
	d.
	None of the above


____
16.
Although the order of elements is based on atomic number, ...
	a.
	vertical families share similar chemical properties.
	c.
	horizontal groups share similar chemical properties.

	b.
	periods share similar chemical properties. 
	d.
	None of the above


____
17.
2 names for vertical columns are 
	a.
	periods, series 
	c.
	periods,  families

	b.
	groups, families 
	d.
	groups, series


____
18.
2 names for horizontal rows are 
	a.
	periods, series 
	c.
	periods,  families

	b.
	groups, families 
	d.
	groups, series


____
19.
Chemically, what makes an element a metal?
	a.
	It tends to lose electrons and form a  cation
	c.
	It tends to gain electrons and form an  anion

	b.
	It tends to share electrons 
	d.
	None of the above


____
20.
Chemically, what makes an element a nonmetal? 
	a.
	It loses electrons when it forms ions 
	c.
	It gains or shares electrons 

	b.
	It is non-reactive
	d.
	None of the above


____
21.
What do all of the elements in a given period have in common?
	a.
	They have the same chemical properties 
	c.
	They have the same number of energy levels 

	b.
	They have the same number of valence electrons 
	d.
	None of the above


____
22.
What do all the elements in a given group have in common?
	a.
	They have the same number of occupied shells
	c.
	They have the same number of energy levels 

	b.
	They have the same chemical properties 
	d.
	None of the above


____
23.
What do all the elements in a given group have in common?
	a.
	They have the same atomic number
	c.
	They have the same number of electrons 

	b.
	They have the same number of valence electrons 
	d.
	None of the above


____
24.
What do all the elements in a given group have in common? 
	a.
	They have the same chemical tendency to lose or gain electrons
	c.
	They have the same number of neutrons 

	b.
	They have the same number of inner electrons 
	d.
	None of the above


____
25.
Will oxygen have properties more similar to nitrogen or sulfur?

	a.
	Sulfur because they are in the same group. Members of the same period do not have the same properties. 

	b.
	Nitrogen because they are in the same period. Members of the same period have the same properties. 

	c.
	It is similar to both of them because all are non-metals and they all have the same properties

	d.
	None of the above


____
26.
Which group does an atom belong to if it has 7 electrons in its outer shell? 

	a.
	Alkali metals 
	c.
	Alkali Earth

	b.
	Halogens 
	d.
	Transition metal


____
27.
Magnesium has the configuration 2,8,2. What group of the periodic table is it in? 
	a.
	10
	c.
	12

	b.
	2
	d.
	None of the above


____
28.
If an atom has one electron in the outer shell what group does it belong to? 
	a.
	Alkali metals 
	c.
	Alkali Earth

	b.
	Halogens 
	d.
	Noble gases


____
29.
What group and period is an atom with electronic configuration 2,8,1? 

                
	a.
	Group 1, Period 2
	c.
	Group 11, Period 3

	b.
	Group 8, Period 1
	d.
	Group 1, Period 3


____
30.
What is the chemical tendency of an atom that has the electronic configuration of 2,8,7?  
	a.
	It tends to lose 7 electrons and to form a +7 cation
	c.
	It tends to gain 7 electrons and to form a -7 anion

	b.
	It tends to lose 1 electron and to form a +1 cation
	d.
	It tends to gain 1 electron and to form an -1 anion


____
31.
What is the chemical tendency of an atom that has the electronic configuration of 2,8,1? 
	a.
	It tends to lose 7 electrons and to form a +7 cation
	c.
	It tends to gain 7 electrons and to form a -7 anion

	b.
	It tends to lose 1 electron and to form a +1 cation
	d.
	It tends to gain 1 electron and to form an -1 anion


____
32.
When a group IIA atom forms an ion, what charge does it have?
	a.
	+2
	c.
	-2

	b.
	 +3
	d.
	None. It is neutral


____
33.
When nitrogen forms an ion, what charge does it have?
	a.
	+3
	c.
	-2

	b.
	-3
	d.
	None. It is stable


____
34.
When aluminium forms an ion, what charge does it have? 
	a.
	3
	c.
	-2

	b.
	-3
	d.
	None. It is stable


____
35.
What has 4 occupied shells and has the tendency to form a -2 anion?
	a.
	Se
	c.
	Sb

	b.
	Sn
	d.
	Sr




Chemical bonds
____
36.
 What part of the atom is responsible for an atom’s chemical reactivity
	a.
	The nucleous
	c.
	The inner electrons

	b.
	All the electrons
	d.
	The valance electrons


____
37.
What is the wrong sentence? 
	a.
	Ionic bonds are formed between metal and nonmetal atoms 

	b.
	Covalent bonds are formed between non-metals atoms

	c.
	Metallic bonds are formed between metal atoms

	d.
	All the above are right


____
38.
Which of the following is most likely a ionic substance?
	a.
	SO2 
	c.
	 Ca 

	b.
	S8
	d.
	 CaCl2 


____
39.
What type of bond occurs between oppositely charged ions? .
	a.
	Ionic
	c.
	Covalent

	b.
	Metallic
	d.
	None of the above


____
40.
Which of the following is most likely a covalent substance?
	a.
	CO2 
	c.
	 Be 

	b.
	Fe
	d.
	 SrCl2 


____41.
 
Which of the following is most likely metallic substance?
	a.
	SiO2 
	c.
	 Mg 

	b.
	CaF2
	d.
	 SrCl2 


____42.
Which of the following is not in the form of covalent giant structure?
	a.
	Diamond – C and Graphite – C
	c.
	  Silicon dioxide – SiO2

	b.
	Silicon carbide – SiC
	d.
	 Chlorine – Cl2 


____
43.
Which of the following is most likely in the form of simple molecules?
	a.
	CO2 
	c.
	 Mg 

	b.
	CaO
	d.
	 SrCl2 


____
44.
Which of the following is most likely in the form of ionic crystal lattice?
	a.
	CO
	c.
	 Mg 

	b.
	CaO
	d.
	 Se


____
45.
Which of the following is most likely in the form of metallic crystal lattice?
	a.
	SO2 
	c.
	 P4

	b.
	Fe
	d.
	 SrCl2 




Properties of compounds
____46.

What is correct for a metallic substance, like Co?
	a.
	Metals conduct electricity because of the sea of delocalised electrons which

can move through the structure to carry the charge

	b.
	Metals have low melting points because of the repulsive forces between the

negative electrons which need little energy to be broken

	c.
	The strength of the metal depends on the charge on the metal ion. Therefore sodium is stronger than magnesium 

	d.
	In metallic bonding, the outer electrons from the metal atoms merge to

produce a lattice of negative metal ions in a sea of delocalised electrons


____47.
What is correct for a covalent substance, like CO?
	a.
	Covalent compounds do not conduct electricity as there are no free

electrons

	b.
	Electrons are transferred between the atoms

	c.
	Covalent molecules have high melting points because of the strong covalent bonds which must be broken

	d.
	Hardness is the property of matter commonly described as the resistance of a substance to being scratched by another substance. A covalent substance in the form of molecules is hard because it has thousands of millions of bonds to be broken when you try to scratch it.


____
48.
What is not correct for a covalent substance which comes in the form of giant covalent lattice, like C?
	a.
	It has a high melting point as strong covalent bonds have to be broken throughout the structure before melting occurs.

	b.
	It is hard. This is due to the need to break the thousands  of millions of very strong covalent bonds throughtout the structure

	c.
	It doesn't conduct electricity because all the electrons are held tightly between the atoms, and aren't free to move

	d.
	All the above are correct


____
49.
Which is not true for an ionic substance, like CaF2?
	a.
	The properties of ionic substances are based on the electrostatic forces of attraction between oppositely charged ions.

	b.
	The oppositely charged ions are arranged in a regular way to form giant ionic lattices. As a result, ionic compounds often form crystals 

	c.
	Ionic compounds do not conduct electricity when they are solid as the ions are held in a fixed position in the lattice structure. Ionic compounds conduct electricity when dissolved in water or melted because their ions are free to move

	d.
	The electrostatic forces of attraction between oppositely charged ions are very strong, so ionic compounds have low melting and boiling points


____
50.
Which is true for SO2 ?
	a.
	It has a high boiling point
	c.
	 It is hard

	b.
	It do not conduct electricity
	d.
	 It forms crystals with a high melting point
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Test Review Chapter 3. Key part

If you have 40 correct answers you can feel confident.
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¿Qué ocurriría si ni hubiera


recogida selectiva de basuras ni se incineraran?





¿Qué ocurriría si no hubiera


recogida selectiva de basuras, y solo llevaran al vertedero o se incineraran?









